

6 $\log z = \log 3 + \frac{z-3}{3} - \frac{(z-3)^2}{2 \cdot 3^2} + \dots$
 $+ \frac{(z-3)^3}{3 \cdot 3^3} + \dots$ where $|z-3| < 3$

P.G. Sem-2nd
 Paper-VI, unit-1st
 Complex integration
 Dr. G. D. Singh

टिप्पणी

अगस्त 2009

रविवार	सोमवार	मंगलवार	बुधवार	गुरुवार	शुक्रवार	शनिवार
30	31					1
2	3	4	5	6	7	8
9	10	11	12	13	14	15
16	17	18	19	20	21	22

(1)

सितम्बर 2009

$$\text{Let } f(z) = \log z$$

9 बुध

By Taylor's theorem

$$f(z) = \sum_{n=0}^{\infty} \frac{(z-a)^n f^{(n)}(a)}{n!}$$

$$= f(a) + (z-a) f'(a) + \frac{(z-a)^2}{2!} f''(a) + \dots$$

(i)

Let $a = 3$, we get -

$$f(3) = \log 3, \quad f'(z) = \frac{1}{z} = z^{-1}$$

$$f''(z) = -\frac{1}{z^2} = -z^{-2}$$

$$f'''(z) = 2z^{-3}$$

10 गुरु

$$\therefore f(3) = \log 3, \quad f'(3) = \frac{1}{3}, \quad f''(3) = -\frac{1}{3^2}$$

$$f'''(3) = \frac{2}{3^3} \text{ from (i), } a = 3$$

$$f(z) = f(3) + (z-3) f'(3) + \frac{(z-3)^2}{2!} f''(3) + \frac{(z-3)^3}{3!} f'''(3) + \dots$$

$$\therefore \log z = f(3) + (z-3) \frac{1}{3} + \frac{(z-3)^2}{2!} \left(-\frac{1}{3^2}\right) + \frac{(z-3)^3}{3!} \left(\frac{2}{3^3}\right) + \dots$$

Paul

दि	सोम	मंगल	बुध	गुरु	शुक्र	शनि
4	5	6	7	8	9	10
11	12	13	14	15	16	17
18	19	20	21	22	23	24
25	26	27	28	29	30	31

अक्टूबर 2009

दिपनी

11 शुक्र (7) Obtain the Laurent's series expansion

$$\frac{\sinh z}{z^2} = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{1}{(2n+1)} z^{2n-1}$$

Let $f(z) = \sinh z$

$\therefore f(0) = \sinh 0 = 0$

$f'(z) = \cosh z$

$f'(0) = \cosh 0 = 1$

$f''(z) = \sinh z$

$f''(0) = \sinh 0 = 0$

12 शनि $f'''(z) = \cosh z$

$f'''(0) = \cosh 0 = 1$

$\therefore f'(z) = f(0) + z f'(0) + \frac{(z-0)^2}{2} f''(0) + \frac{(z-0)^3}{6} f'''(0) + \dots$

$\therefore \sinh z = 0 + z(1) + 0 + \frac{z^3}{6} + 0 + \frac{z^5}{120} + \dots$

$$\frac{\sinh z}{z^2} = \frac{1}{z} + \sum_{n=1}^{\infty} \frac{1}{(2n+1)} z^{2n-1}$$

टिप्पणी

रविवार	सोमवार	मंगलवार	बुधवार	गुरुवार	शुक्रवार	शनिवार
30	31					1
2	3	4	5	6	7	8
9	10	11	12	13	14	15

8. Expand the function $\frac{1}{(z-1)(z-3)}$ in Taylor's Series about $z=2$ and indicate the Circle of Convergence. 13 रवि

The distance of both the singularities $z=1$, $z=3$ from the centre $z=2$ is 1. So $f(z)$ is regular within $|z-2|=1$ which is the circle of convergence.

Also Taylor's expansion about $z=2$ is

$$f(z) = \frac{1}{(z-1)(z-3)} = \frac{1}{z^2 - 4z + 3}$$

$$= \frac{1}{z^2 - 4z + 4 - 1}$$

$$= \frac{1}{(z-2)^2 - 1}$$

$$= - \frac{1}{1 - (z-2)^2}$$

$$= - \{1 - (z-2)^2\}^{-1}$$

$$= - \left[(z-2)^2 + (z-2)^4 + (z-2)^6 + \dots \right]$$

$$= 1 - \sum_{n=1}^{\infty} (z-2)^{2n}$$

रविव	सोम	मंगल	बुध	गुरु	शुक्र	शनि
				1	2	3
4	5	6	7	8	9	10
11	12	13	14	15	16	17
18	19	20	21	22	23	24
25	26	27	28	29	30	31

अक्टूबर 2009

टिप्पणी